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Nens.

e MIDTERM #1 NEXT CLASS(THU 21 FEB)

—youmaybringone8.5"x 11" pageof notes bothsidesof page,any font
—youMUST bringaphotolD
— no calculaors,laptops palmibps,mobile phones, etc.
— materal covered.:
* ch1.1-1.5
(introduction; hardware commnents;netwaks; programming programmng
languages)
x ch2.1-2.7
(introductionto objects;string literals; variablesandassignnent; primitive data
typesandexpressions;credaing objects;classlibrariesand padkages;invoking
classmethod)
* ch3.1-3.8
(control flow; theif statemet) the switdh statemet) boolean expressionsrevisited,;
more operators; thewhile statemet) the do statemet) thefor statemet)
* plusALL lectures andhomevorks
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Systemexit()

e inclasg ava. | ang. Syst em
epublic static void exit(int status);
e termindesthecurrerly running Java Virtual Machine.

e thealgumentsenes asa statuscode— by convention, a nonzeo statuscodeindicates
abnornal termindion

e useattheendof aprogran to exit cleanlyor to terminde in themiddle

i mport java.l ang. *;
public class ex9 exit {
public static void main ( String[] args ) {
if ( args.length < 4 ) {
Systemout. println( "usage: java hw2 <xr> <yr> <xb> <yb>" );
Systemexit( 1 ); // abnormal term nation
}
/1l ... rest of program goes here .
Systemexit( 0 ); // normal term nation
} /1 end of main()
} /1 end of class ex9 exit
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e increment: +-+
| ++;

Is thesameas:
I =1 + 1;

e decrenent: ——
==
IS thesameas:
=1 - 1;
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Incrementanddecranentoperdors.




mmmﬁs_.:m:e_umqmo_.w.
+=
| += 3; iIsthesameas:i =1 + 3;
| -= 3; isthesameas:i =1 - 3;
*—=
| *= 3: isthesameas:i =1 * 3;
/=
| /= 3; iIsthesameas:i =1 | 3;
0=
| % 3; iIsthesameas:i =1 % 3;
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public class ex9_if1l {

thei f branchingstatement.

public static void main ( String[] args ) {

String s;
char C;
Systemout.println( "nunber of args = " + args.length );
Systemout.println( "first arg =" + args[0] );
s = new String( args[0] ); // constructor
c = s.charAt( 0);
Systemout.println( "c = "+c );
if (c="0 ) {
Systemout.println( "cis adigit" );
}
elseif (¢c=="1 ) {
Systemout.println( "cis adigit" );
}
elseif (¢ =="A ) {
Systemout.println( "c is a letter" );
}
el se {
Systemout.println( "c is undefined" );
}

} /1 end of main()
} /1 end of class ex9_if1l
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thesw t ch branchingstatement

public class ex9_switchl {
public static void main ( String[] args ) {

String s;

char C;

Systemout.println( "nunber of args = " + args.length );
Systemout.println( "first arg =" + args[0] );

s = new String( args[0] ); // constructor
c = s.charAt( 0);
Systemout.println( "c = "+c );
switch( ¢ ) {
case '0':
System out . printl n(
br eak;
case '1':
Systemout.println( "cis adigit" );
br eak;
case 'A:
Systemout.println( "cis a letter” );
br eak;
defaul t:
System out . printl n(
} /1 end of switch
} /1 end of main()
} end of class ex9 switchl

cisadgt");

c is undefined" );
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| f with compoundstatements

public class ex9_if2 {
public static void main ( String[] args ) {

String s;

char C;

Systemout.println( "nunber of args = " + args.length );
Systemout.println( "first arg =" + args[0] );

s = new String( args[0] ); // constructor

c = s.charAt( 0);

Systemout.println( "c = "+c );

if ((c=="0 ) |] (c=="1)) {
Systemout.println( "cis adigit" );

}
elseif (¢c=="A ) {
Systemout.printin( "cis aletter" );
}
el se {
Systemout.println( "c is undefined" );
}

} /1 end of main()
} /1 end of class ex9 if2
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compoundsw t ch.

public class ex9_switch2 {
public static void main ( String[] args ) {

String s;

char C;

Systemout.println( "nunber of args = " + args.length );
Systemout.println( "first arg =" + args[0] );

s = new String( args[0] ); // constructor
c = s.charAt( 0);
Systemout.println( "c = "+c );
switch( ¢ ) {
case '0':
case '1’':
System out . printl n(
br eak;
case 'A:
Systemout.println( "c is a letter"” );
br eak;
defaul t:
System out . printl n(
} /1 end of switch
} /1 end of main()
} /1 end of class ex9 switch2

cisadgt");

c is undefined" );
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looping.

e if youwart to do sometling mary times
e two typesof loops:

— counte controled
— condition contrdled

e threeloop statenents:

—for
—whi | e
—do
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countercontrolledf or loop.

** Notg asdiscusedin theafternom class: Math.random()returnsa valuebetwen0.0
inclusve and1.0exclusve, soin orderto getaninteger betwea 0 and51, we multiply the
outpu fromMath.randong) by 52 andtruncateit.

public class ex9 forl {
public static void main ( String[] args ) {
int n =10, count;
int card=(int)(Mth.random()*52);
for ( count=1; count<=n; count++ ) {
card=(i nt) (Mat h. randon() *52);
System out. println( "count="+count+" card="+card );
} /1l end for
Systemout.println( "DONE!'! count="+count+" card="+card );
Systemexit( 0 );
} /1 end of main
} /1 end of class ex9 forl

€s10d-sprin@002sklarlect09

11




countercontrolledwhi | e loop.

public class ex9 _whilel {
public static void main ( String[] args ) {
int n =10, count = 1;
int card=(int)(Mth.random()*52);
while ( count<n ) {
Systemout. println( "count="+count+" card="+card );
card=(i nt) (Mat h. randon{() *52);
count ++;
} // end while
Systemout.println( "DONE!'! count="+count+" card="+card );
Systemexit( 0 );
} /1 end of main
} /1 end of class ex9 whilel
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countercontrolleddo loop.

public class ex9_dol {
public static void main ( String[] args ) {
int n =10, count = 1;
int card=(int)(Mth.random()*52);
do {
System out. println( "count="+count+" card="+card );
card=(i nt) (Mat h. randon{() *52);
count ++;
} while ( count<n );
Systemout.println( "DONE!! count="+count+" card="+card );
Systemexit( 0 );
} /1 end of main
} /1 end of class ex9 dol
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condition-contrded f or loop.

public class ex9 for2 {
public static void main ( String[] args ) {
int cardl=(int)(Math.randon()*52);
int card2=(int)(Math. randon()*52);
i nt count =1;
for ( ; cardl !'= card2; ) {
Systemout. println( "count="+count+" cardl="+cardl+" card2="+card2 );
cardl=(int)(Math.random)*52);
card2=(int) (Math.random) *52);
count ++;
} /1 end for
Systemout.println( "MATCH count="+count+" cardl="+cardl+" card2="+card2 );
Systemexit( 0 );
} // end of main
} /1 end of class ex9 for2

OR

+oq ( ; cardl !'= card2; cardl=(int)(Math.random()*52), card2=(int)(Math.randon()*52), count ++ ) {

Systemout. println( "count="+count+" cardl="+cardl+" card2="+card2 );
} /1 end for
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condition-ontrolledwhi | e loop.

public class ex9 _while2 {
public static void main ( String[] args ) {
int cardl=(int)(Math.randon()*52);
int card2=(int)(Math. randon()*52);
i nt count =1;
while ( cardl !'= card2 ) {
System out. println( "count="+count+" cardl="+cardl+" card2="+card2 );
cardl=(int)(Math.random)*52);
card2=(int) (Math.random() *52);
count ++;
} /1 end while
Systemout.println( "MATCH count="+count+" cardl="+cardl+" card2="+card2 );
Systemexit( 0 );
} /1 end of main
} /1 end of class ex9 while2
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condition-ontrolleddo loop.

public class ex9_do2 {
public static void main ( String[] args ) {
int cardl=(int)(Math.randon()*52);
int card2=(int)(Math.randon()*52);
i nt count =1;
do {
System out. println( "count="+count+" cardl="+cardl+" card2="+card2 );
cardl=(int)(Math.random)*52);
card2=(int) (Math.random) *52);
count ++;
} while ( cardl !'= card2 );
Systemout.println( "MATCH count="+count+" cardl="+cardl+" card2="+card2 );
Systemexit( 0 );
} /1 end of main
} /1 end of class ex9_do2
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